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DIPLOMA IN EARLY CHILDHOOD 

CARE AND EDUCATION (DECE)  

Term-End Examination 

December, 2022 

DECE-1 : ORGANIZING CHILD CARE SERVICES 

Time : 3 Hours     Maximum Marks : 100 

Note : Question number 1 is compulsory. Answer 

any other four questions. All questions carry 

equal marks. 

1. (a) As a supervisor of a preschool centre, what 

aspects will you keep in mind when 

evaluating, whether the week’s schedule of 

activities prepared by the preschool 

educator for children is appropriate ? 15 

(b) State in which area does each of the 

following activities primarily foster 

development. Refer to the example : 5 
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Activity 
Area of 

Development 

e.g. : Jumping over 
an obstacle 

Gross motor 
development 

(i) Singing rhymes 

(ii) Putting beads through a wire 

(iii) Playing with a friend 

(iv) Matching cards of similar colours 

(v) Making a drawing 

2. (a) “The newborn is helpless and has no ability 
to adjust to the new environment after 
birth.” Do you agree with this statement ? 
Justify your answer with examples. 10 

(b) Explain the meaning of the terms 
‘egocentrism’ and ‘conservation’ with 
respect to the preschool child. Give 
examples. 5+5  

3. (a) Explain what is meant by the term 
‘Socialization’. 5 

(b) Explain the features of affection oriented 
style of disciplining with example and its 
impact on the child’s personality. 8+7  
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4. (a) Explain the meaning of the following terms 
with examples : 2×5=10 

(i) Cooing 

(ii) Babbling 

(iii) Telegraphic speech 

(iv) Private speech 

(v) Pre-reading skills 

(b) State five ways by which the caregivers can 

help the child to acquire language during 
the first six years of life.   10 

5. (a) What is meant by the term ‘discovery 

areas’ in context of a preschool centre and 
how does it contribute to children’s 
learning  ? Explain with examples. 10 

(b) How can you use the strategy of asking 

questions to help children learn  
effectively ? Explain with examples. 10 

6. Describe one play-based activity each for 
developing each of the following : 5×4=20 

(a) The ability to classify in four-year olds 
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(b) Auditory discrimination skills of three-year 
olds 

(c) Fine motor skills of two-year olds 

(d) Creativity of five-year olds 

7. Describe any two of the following : 10+10 

(a) Aspects to be kept in mind when 
evaluating space in the preschool centre 

(b) Managing a large group of children in the 
preschool class 

(c) Methods of involving parents in the 
activities of the early childhood centre 

(d) Functions of language   
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      DECE-1 

izkjfEHkd ckY;koLFkk ns[kHkky vkSj f'k{kk esa 

fMIyksek (Mh- bZ- lh- bZ-) 

l=kkar ijh{kk 

fnlEcj] 2022 

Mh- bZ- lh- bZ--1 % cPpksa ds fy, ns[kHkky  

lsokvksa dk laxBu 

le; % 3 ?k.Vs     vf/dre vad % 100 

uk sV % iz'u la- 1 vfuok;Z gSA 'ks"k esa ls fdUgha p kj 

iz'uksa ds mÙkj nhft,A lHkh iz'uksa ds vad leku 

gSaA 

1- (d)  vki fdlh 'kkykiwoZ dsUnz ds i;Zos{kd gSaA 

'kkykiwoZ f'kf{kdk }kjk cPpksa ds fy, cuk;h xbZ 

fØ;kvksa dh lkIrkfgd vuqlwph mfpr gS ;k 

ugha bldk ewY;kadu djrs le; vki fdu 

igyqvksa dks è;ku esa j[ksaxs \ 15 
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([k)  crkb, fd fuEufyf[kr izR;sd fØ;k izeq[k :i 

ls fodkl ds fdl {ks=k dks c<+kok nsrh gSA 

Li"Vhdj.k ds fy, mnkgj.k ns[ksaA 5                     

fØ;k fodkl dk {ks=k 

mnkgj.k % ck/kvksa 

ds Åij ls yka?kuk 

LFkwy fØ;kRed fodkl 

  (i)  cky dfork,¡ xkuk 

  (ii)  rkj esa eksrh fijksuk 
  (iii) fe=k ds lkFk [ksyuk 
  (iv) leku jaxksa ds dkMks± dks feykuk 

  (v)  Mªkbax cukuk 
2- (d)  ¶uotkr vlgk; gksrk gS vkSj tUe ds ckn u, 

ifjos'k esa lek;kstu djus dh ;ksX;rk mlesa 

ugha gksrh gSA¸ D;k vki bl dFku ls lger  

gSa \ mnkgj.kksa ds lkFk vius mÙkj dh iqf"V 

dhft,A 10 

([k)  'kkykiwoZ cPps ds lanHkZ esa ^vgadsfUnzdrk* vkSj 

^laj{k.k* 'kCnksa dks mnkgj.k nsrs gq, Li"V 

dhft,A 5$5 

3- (d)  ^lekthdj.k* 'kCn ls D;k vfHkizk; gS \ o.kZu 

dhft,A 5 
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([k)  vuq'kkflr djus dh Lusg&dsafnzr 'kSyh dh 

fo'ks"krkvksa dk mnkgj.k lfgr o.kZu dhft, 

vkSj cPps ds O;fDrRo ij bl 'kSyh dk izHkko 

crkb,A 8$7 

4- (d)  mnkgj.k lfgr fuEufyf[kr 'kCnksa dk vFkZ Li"V 

dhft, % 2×5=10 

 (i)  dwtu djuk 

 (ii)  ccykuk 

 (iii) rkj&Hkk"kk 
 (iv) futh&Hkk"kk 

 (v)  iBu&iwoZ dkS'ky 

([k)  ,sls ik¡p rjhds crkb, ftuds }kjk ns[kHkkydÙkkZ 

cPps dh thou ds izFke N% o"kks± esas Hkk"kk 

vtZu esa enn dj ldrs gSaA 10  

5- (d)  'kkykiwoZ dsUnz ds lanHkZ esa ^[kkst ds {ks=k* ls 

D;k vfHkizk; gS] vkSj cPpksa ds lh[kus esa ;g 

dSls ;ksxnku nsrs gSa \ mnkgj.kksa ds lkFk o.kZu 

dhft,A 10 
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([k)  izHkkoh :i ls lh[kus esa cPpksa dh enn ds 

fy, vki iz'u iwNus dh dk;Zuhfr dk iz;ksx 

dSls dj ldrs gSa \ mnkgj.kksa ds lkFk Li"V 

dhft,A 10 

6- fuEufyf[kr izR;sd ds fodkl ds fy, ,d&,d [ksy 

vk/kfjr fØ;k dk o.kZu dhft, % 5×4=20 

(d)  pkjo"khZ; cPPkksa esa oxhZdj.k djus dh ;ksX;rk 

([k)  rhuo"khZ; cPpksa ds Jo.k&foHksnhdj.k dkS'ky 

(x)  nkso"khZ; cPPkksa ds lw{e&fØ;kRed dkS'ky 

(?k)  ik¡po"khZ; cPpksa dh l`tukRedrk 

7- fuEufyf[kr esa ls fdUgha nks dk o.kZu dhft, % 

10+10 
(d)  'kkykiwoZ dsUnz esa LFkku dk ewY;kadu djrs le; 

è;ku j[kus ;ksX; igyw 

([k)  'kkykiwoZ d{kk esa cPpksa ds cgqr cM+s lewg dks 

l¡Hkkyuk 

(x)  ekrk&firk dks izkjfEHkd ckY;koLFkk dsUnz dh 

xfrfof/;ksa esa 'kkfey djus ds rjhds  

(?k)  Hkk"kk ds dk;Z 
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